SA: HED
Hu: NFEHY =5(
Sl OEE N4 &

= RN

HL ne

UDDHI/NYHE - WYX )

A& 13,726,505 13,948,443 221,938
NEHH SES(LS I /NNLSE - HEXY) 12,467,033 12,579,976 2 112,943
OHE A M= == 12,467,033 12,579,976 2 112,943
MHENEE M2 187,421 158,356 29,065
201 22| 13,600 13,600 0
01 AR 22l 13,600 13,600 0
OXIZAMARS 2FAZ A& 29 2,000
QN2+ ARLE 2AZ A& 2 2,000
OXLME 28 23| 1,600
OXIYAN LRI 7 2,000
OM+= XA M= 1,000
O=8&Ee Sl 5,000
202 o1l 31,150 31,150 0
01 =W ol 31,150 31,150 0
OXNZN=3U & AR X 31,150
203 FR=2HI 5,000 8,000 23,000
03 AIMZ=T AR =AH| 5,000 8,000 23,000
OXIZ M= 5,000
303 L&tz 56,000 55,000 1,000
01 Z&3 56,000 55,000 1,000
OXNZMER2E 2AZ A4 22,000
ONLUdL+ 25AZT A& 20,000
OXNLMARS AT A4 9,000
ON2I+ HARLE 2AT A& 5,000
306 3 81,671 50,606 31,065
01 &9 81,671 50,606 31,065
O XMz & 81,671
CHNY FFEaE Xs 20 113,333 100,000 13,333
303 Z&t= 113,333 100,000 13,333
01 Z&3 113,333 100,000 13,333
OXNY A+ZAMIH 29 113,333
S8 NEA FHAE 2 9,000 11,310 22,310
201 EL2 S| 6,000 8,000 22,000
01 A& 6,000 8,000 22,000
OXNEAMNAS & J2AMAR =& 6,000
202 ol 3,000 3,310 A310
01 SO 3,000 3,310 2310
OXYAl Ol2dE & &0l 3,000
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A+=WE3 X 12,099,000 £126,000

308 AtXI &M SOl & 12,099,000 12,225,000 £126,000

02 &+=nL3 12,099,000 12,225,000 £126,000
OXgA d+ne=s 12,099,000

NSEA =8 42,279 65,430 223,151

202 o1l 42,279 65,430 223,151

01 I OHI 42,279 65,430 223,151
OXNLM HII,EE HRBXA 22,279
OHE, Mathl & Al &2 N 20,000

NN HESHAS =0 8,000 8,000 0

201 eS| 8,000 8,000 0

01 AtR 22! 8,000 8,000 0
OAHE L JIEIEH AJIEEY HXI M= 8,000

NEA Me2e =8 8,000 11,880 23,880

202 OdHl 8,000 11,880 £A3,880

01 SO 8,000 11,880 23,880
OMEd s+ XN 8,000

B 2AFHI(ME D) (JIEH/IIE) 31,000 70,429 239,429

[=ZHl 31,000 70,429 239,429

BA2E JI23H| 31,000 70,429 239,429

201 B2 S| 20,000 54,685 £34,685

01 AtR2t2l 1 20,000 54,485 34,485
ORAN2Z AIRZelH 20,000

202 0G4 Hl 11,000 15,744 A4,744

01 =W OHI 11,000 15,744 £4,744
ORAN2Z =0 11,000

HWRES(HMEL)(SSEAMUHH/THLHLTH - 2122]) 1,228,472 1,298,038 269,566

BEXE 1,228,472 1,298,038 269,566

SOl S FA 1,228,472 1,298,038 269,566

311 X+ S0l K&t & 38,472 108,038 269,566

06 JIEFXR S0l K&t & 38,472 108,038 AB9,566
©'9%8 +HEF(HEXS) 38,472

601 XY =@ & E 1,190,000 1,190,000 0

06 JIEI=LXIY S S &E 1,190,000 1,190,000 0
©'98 *HER(MHEXS) 1,190,000
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